
Cutting list 

Part nr. 3D-file Name Type Material Qty 3 config.

Vacuum
 Form

ing

M
etal bending

Injection m
olding

B
ase Length to cut

1.1 20x80 mm buis v3 round 20x16mm Steel/RVS 2 2 80mm
1.2 20x140 mm buis v3 round 20x16mm Steel/RVS 4 2 2 140mm
1.3 20x200 mm buis v3 round 20x16mm Steel/RVS 2 2 200mm
1.4 Piston v3/top part round 25x28mm Steel/RVS 1 1 25mm
1.5 Bolt m10 215 metal bending M10 Threated Rod Steel/RVS 2 2 215mm
1.6 Bold m10 235 vacuumforming M10 Threated Rod Steel/RVS 2 2 235mm
1.7 Bolt m10 380 injectionmoulding M10 Threated Rod Steel/RVS 2 2 380mm
1.8 Linear actuator holder v3 M10 Threated Rod Steel/RVS 2 2 2 210mm
1.9 Piston v3 12mm Rod Steel/RVS/Aluminium 1 1 98mm
1.10 Expanded steel v3 Expanded metal sheet Steel/RVS/Aluminium 1 1 110mm
1.11 PVC pipe straight 32 v3 PVC tube 32mm PVC 1 1 100mm
1.12 Nozel holder base v3/body5 Acrylic tube 80x74 Acrylic 1 1 46mm

3D printing

Part nr. 3D-file Name Type Material Qty 3 config. VF MB IM Base Production file name
2.1 Clamp 6 v3 3D-print PLA or high temp resin 2 2 2.1 Clamp 6 v3.STL
2.2 Insert 2 v3 3D-print PLA 16 4 8 4 2.2 Insert 2 v3.STL
2.3 M10 Nut ring v2 3D-print PLA 6 2 2 2 2.3 M10 Nut ring v2.STL
2.4 Metal bending top mould v3 3D-print PLA 1 1 2.4 Metal bending top mould v3.STL
2.5 Metal bending bottom mould v3 3D-print PLA 1 1 2.5 Metal bending bottom mould v3.STL

CNC milling/Lathe

Part nr. 3D-file Name Type Material Qty 3 config. VF MB IM Base Production file 
3.1 Vacuum plastic frame v3 - HPL 2 2 3. HPL parts.STEP
3.2 Vacuum bed holder v3 v7 HPL 1 1 3. HPL parts.STEP
3.3 Nozell holder top v3 HPL 1 1 3. HPL parts.STEP
3.4 Nozel holder base v3 HPL 1 1 3. HPL parts.STEP
3.5 Mould holder v3 HPL 1 1 3. HPL parts.STEP
3.6 Kapje front HPL 1 1 3. HPL parts.STEP
3.7 Kapje back HPL 1 1 3. HPL parts.STEP



3.8 Nozzle/body1 Injection molding nozzle Aluminium 1 1 3. HPL parts.STEP

3.9 Carabiner/Bottom mould Bottom mold Aluminium 1 1
3.9 Bottom mold.STEP
3.9 Bottom mold Drawing.PDF

3.10 Carabiner/Topmould Top mold Acrylic 1 1
3.10 Top mold.STEP
3.10 Top mold Drawing.PDF

Bought parts

Part nr. 3D-file Name Search name Material Qty 3 config. VF MB IM Base Store Order link
4.1 M10 Flange nut M10 Flange nut Steel 8 8 8 Hardware store https://www.amazon.nl/-/en/Flange-without-locking-polyamide-clamping/dp/B0B1542T4F
4.2 M10 nut M10 nut Steel 6 2 2 2 Hardware store https://www.hornbach.nl/p/dresselhaus-zeskantmoer-m6-din-934-8-galv-verzinkt-100-stuks/3830636/
4.3 M10 Welding nut M10 cap nut Steel 2 2 Hardware store https://www.hornbach.nl/p/dresselhaus-dopmoer-m10-din-1587-rvs-a2-25-stuks/3886675/
4.4 M4 bolt flat 20 M4 flat head bolt x 20 Steel 8 8 Hardware store https://www.hornbach.nl/p/dresselhaus-binnenzeskantbout-verzonken-kop-4x20-mm-din-7991-galv-verzinkt-100-stuks/7662375/
4.5 M4 rivet nut M4 rivet nut Steel 8 8 Hardware store https://www.amazon.nl/Gueenky-koolstofstaal-klinkmoeren-schroefdraad-blindklinkmoeren/dp/B098DMJKH8/ref=sr_1_14?__mk_nl_NL=%C3%85M%C3%85%C5%BD%C3%95%C3%91&crid=9MAQO96D3NSM&dib=eyJ2IjoiMSJ9.TCOvevSW6kOWsrGKgsyeR5XmI6UwQHtqlYJGNCsgo4Wu-Y61hpM3wgB6p7gsUGdgUVFZRe-5i0cEOLzcvh23OGk93Vp40QnA3y8iOxssnQpLx9k6IY09qLpB1iD_fPCTsxd9HuCwMVvlh_zY-o5AXIB8LmneK3-C0SFtE8ZEDfDs_kVDKcYAlvXof8IYOzEt-PcJ_xRXgKDY9RXDKon9of-bEiV926tcYxRRHO2sMxM1OIC1ndn-vudGBt_14tVziQqXWLO1tyT6m7xd4JWXcltTrWp2eCYxBeQdnqrSK44.lRHT-9nLDOG7diN_D3o7mtt_TwhmOYSxWwaGnilwGrc&dib_tag=se&keywords=blindklinkmoeren+m4&qid=1718806848&sprefix=blindklinkmoeren+m4%2Caps%2C81&sr=8-14
4.6 M6 Wing bolt x 20 M6 Wing bolt x 20 Steel 4 4 Hardware store https://www.hornbach.nl/p/dresselhaus-vleugelbout-6x30-mm-din-316-galv-verzinkt-50-stuks/8682460/
4.7 M8 Hex 55 M6 Bolt hex 55 Steel 3 3 Hardware store https://no.rs-online.com/web/p/hex-bolts/7976323?srsltid=AfmBOoqXz9blGLBANb-4HZ2s-Xe9nkL9lw0Kha2ir6tGMLpgL1dO8Fub
4.8 M6 Wingnut M6 Wing nut Steel 3 3 Hardware store https://www.hornbach.nl/p/dresselhaus-vleugelmoer-amerikaanse-vorm-m6-galv-verzinkt-100-stuks/3830521/
4.9 PVC 90 32 v3 PVC tube 90 deg. 32mm PVC 1 1 Hardware store https://www.hornbach.nl/p/martens-bocht-90-pvc-1x-manchet-o-32-mm/8142994/
4.10 Nozzle/body3 Rock wool Rock wool 1 1 Hardware store https://www.hornbach.de/p/rohrisolierung-climatubewool-28-20-1m-alukaschiert/10110819/
4.11 N/a Draad 1.5^m2 N/a 1 1 Electramat https://www.elektramat.nl/montagedraad-vds-0-50-mm2-h05v-k-zwart-per-rol-100-meter/
4.12 N/a Plug N/a 1 1 Electramat https://www.elektramat.nl/kopp-stekker-met-randaarde-creme-wit/
4.13 DC House 150mm Lineaire actuator v3Linear actuator stroke 150mm N/a 1 1 1 Aliexpress https://www.aliexpress.com/item/1005005757978695.html?spm=a2g0o.productlist.main.5.1cff596bc0aWkz&algo_pvid=eecb68c7-12cc-40b5-8641-6be4bf0891a1&algo_exp_id=eecb68c7-12cc-40b5-8641-6be4bf0891a1-2&pdp_npi=4%40dis%21EUR%2160.59%2125.66%21%21%21462.20%21195.75%21%40210384cc17188011935965091e4399%2112000034247512933%21sea%21NL%210%21AB&curPageLogUid=JGIyQwk3BYcP&utparam-url=scene%3Asearch%7Cquery_from%3A
4.14 12v dc/230v AC 5A v3 AC/DC converter 12V N/a 1 1 Aliexpress https://nl.aliexpress.com/item/1005005626231303.html?spm=a2g0o.productlist.main.9.45d6620cHpQYqM&algo_pvid=bfa4bb3f-4de0-4a46-88ab-ef7585e846ef&algo_exp_id=bfa4bb3f-4de0-4a46-88ab-ef7585e846ef-4&pdp_npi=4%40dis%21EUR%2110.42%210.94%21%21%2179.50%217.17%21%40211b81a317188007833666792ec799%2112000033795199571%21sea%21NL%210%21AB&curPageLogUid=KJjlfH5YyK2D&utparam-url=scene%3Asearch%7Cquery_from%3A
4.15 Nozzle/body2 PTC element 230v 270+ deg. N/a 1 1 Aliexpress https://nl.aliexpress.com/item/1005001874482130.html?spm=a2g0o.productlist.main.3.a9e26c5eJJt936&algo_pvid=5a919416-f109-4bb1-8b73-7497a31a6f1d&aem_p4p_detail=20240815121247363209358460004606834&algo_exp_id=5a919416-f109-4bb1-8b73-7497a31a6f1d-1&pdp_npi=4%40dis%21EUR%212.43%210.92%21%21%212.61%210.99%21%402103854617237491669825299ef220%2112000041176351759%21sea%21NL%210%21ABX&curPageLogUid=YjMHMH10a1t0&utparam-url=scene%3Asearch%7Cquery_from%3A&search_p4p_id=20240815121247363209358460004606834_2
4.16 DC connector v3 DC Power Jack Socket 5,5 x 2,1 mm DCN/a 1 1 Amazon https://www.amazon.nl/dp/B089DXQDS9?ref=ppx_yo2ov_dt_b_product_details&th=1
4.17 C14 chassis socket v3 C14 chassis socket N/a 1 1 Amazon https://www.amazon.nl/dp/B0CWQPGNT1?psc=1&ref=ppx_yo2ov_dt_b_product_details
4.18 Button 3 way v3 3 Way switch N/a 1 1 Amazon https://www.amazon.nl/Rocker-Tuimelschakelaar-motorfiets-Huishoudelijke-Apparaten-KCD4/dp/B0B1MNKV5G/ref=pd_sbs_d_sccl_3_29/259-2653487-1667710?pd_rd_w=J0Px5&content-id=amzn1.sym.d59b0447-84b8-40dc-9ed8-ccfdabe49739&pf_rd_p=d59b0447-84b8-40dc-9ed8-ccfdabe49739&pf_rd_r=EHR2BGQ6YN1TWMBFE5X5&pd_rd_wg=sGNTX&pd_rd_r=7cfd738b-756c-4821-bfd7-2b475d580a4b&pd_rd_i=B0B1MNKV5G&psc=1
4.19 N/a Springs 40mm x ID 6mm Steel 1 1 Amazon https://www.amazon.nl/Drukveren-246-delig-Assortiment-spiraal-drukveer/dp/B079N7BMS3/ref=sr_1_7?__mk_nl_NL=%C3%85M%C3%85%C5%BD%C3%95%C3%91&crid=D38Z5KISYRP1&dib=eyJ2IjoiMSJ9.xTQbPUa26OE0NIjXpocbovd_SYbNAqErdGgVyZf6EYZr1T68R5k6B7DExYz8CxIGu7td-sU6910uhS_czPRe5rdy9jPH32GjHX3KBJ0wbo9MJkk9EsgZc8jsVt_K7-reXoH4aiBaRitzQ1BnUD7XcxIM9jXbHQvp-cfyLmZXVSrSMQVYl6hrkrA-1UVwFcoAEoFwkYufEEm_izcTCkO_LPk8gqS2JCShPR5-TlWRLjYFcFQjVRqwxIm1BRPeHM-Yi4o-XPysei0ahxl5VyJG9FXS18bISzT0Io15n4dYmwA.RxXAsqQ1aj3og0P6f85bhDBmSl4HcseZ-khsgerss_U&dib_tag=se&keywords=springs&qid=1723749573&sprefix=springes%2Caps%2C453&sr=8-7
4.20 N/a Heat gun N/a 1 1 LIDL/Second hand https://www.lidl.nl/p/parkside-digitale-heteluchtpistool/p100368138
4.21 N/a Vacuum cleaner N/a 1 1 Second hand

Lasercut + press brake

Part nr. 3D-file Name Type Material Qty 3 config. VF MB IM Base File name

5.1 Linear actuator holder v3/body 4 40x40x2 square tube Steel/RVS 1 1 1
5.1 Top Tube.STEP
5.1 Top Tube Drawing.PDF

5.2 Linear actuator holder v3/body 1 40x40x2 square tube Steel/RVS 1 1 1
5.2 Bottom Tube.STEP
5.2 Bottom Tube Drawing.PDF

5.3 Gelijder v3 30x30 U-profile Steel/RVS 1 1
5.3 Press brake top.STEP
5.3 Press brake top Drawing.PDF

https://www.amazon.nl/-/en/Flange-without-locking-polyamide-clamping/dp/B0B1542T4F
https://www.hornbach.nl/p/dresselhaus-zeskantmoer-m6-din-934-8-galv-verzinkt-100-stuks/3830636/
https://www.hornbach.nl/p/dresselhaus-dopmoer-m10-din-1587-rvs-a2-25-stuks/3886675/
https://www.hornbach.nl/p/dresselhaus-binnenzeskantbout-verzonken-kop-4x20-mm-din-7991-galv-verzinkt-100-stuks/7662375/
https://www.amazon.nl/Gueenky-koolstofstaal-klinkmoeren-schroefdraad-blindklinkmoeren/dp/B098DMJKH8/ref=sr_1_14?__mk_nl_NL=%C3%85M%C3%85%C5%BD%C3%95%C3%91&crid=9MAQO96D3NSM&dib=eyJ2IjoiMSJ9.TCOvevSW6kOWsrGKgsyeR5XmI6UwQHtqlYJGNCsgo4Wu-Y61hpM3wgB6p7gsUGdgUVFZRe-5i0cEOLzcvh23OGk93Vp40QnA3y8iOxssnQpLx9k6IY09qLpB1iD_fPCTsxd9HuCwMVvlh_zY-o5AXIB8LmneK3-C0SFtE8ZEDfDs_kVDKcYAlvXof8IYOzEt-PcJ_xRXgKDY9RXDKon9of-bEiV926tcYxRRHO2sMxM1OIC1ndn-vudGBt_14tVziQqXWLO1tyT6m7xd4JWXcltTrWp2eCYxBeQdnqrSK44.lRHT-9nLDOG7diN_D3o7mtt_TwhmOYSxWwaGnilwGrc&dib_tag=se&keywords=blindklinkmoeren+m4&qid=1718806848&sprefix=blindklinkmoeren+m4%2Caps%2C81&sr=8-14
https://www.hornbach.nl/p/dresselhaus-vleugelbout-6x30-mm-din-316-galv-verzinkt-50-stuks/8682460/
https://no.rs-online.com/web/p/hex-bolts/7976323?srsltid=AfmBOoqXz9blGLBANb-4HZ2s-Xe9nkL9lw0Kha2ir6tGMLpgL1dO8Fub
https://www.hornbach.nl/p/dresselhaus-vleugelmoer-amerikaanse-vorm-m6-galv-verzinkt-100-stuks/3830521/
https://www.hornbach.nl/p/martens-bocht-90-pvc-1x-manchet-o-32-mm/8142994/
https://www.hornbach.de/p/rohrisolierung-climatubewool-28-20-1m-alukaschiert/10110819/
https://www.elektramat.nl/montagedraad-vds-0-50-mm2-h05v-k-zwart-per-rol-100-meter/
https://www.elektramat.nl/kopp-stekker-met-randaarde-creme-wit/
https://www.aliexpress.com/item/1005005757978695.html?spm=a2g0o.productlist.main.5.1cff596bc0aWkz&algo_pvid=eecb68c7-12cc-40b5-8641-6be4bf0891a1&algo_exp_id=eecb68c7-12cc-40b5-8641-6be4bf0891a1-2&pdp_npi=4%40dis%21EUR%2160.59%2125.66%21%21%21462.20%21195.75%21%40210384cc17188011935965091e4399%2112000034247512933%21sea%21NL%210%21AB&curPageLogUid=JGIyQwk3BYcP&utparam-url=scene%3Asearch%7Cquery_from%3A
https://nl.aliexpress.com/item/1005005626231303.html?spm=a2g0o.productlist.main.9.45d6620cHpQYqM&algo_pvid=bfa4bb3f-4de0-4a46-88ab-ef7585e846ef&algo_exp_id=bfa4bb3f-4de0-4a46-88ab-ef7585e846ef-4&pdp_npi=4%40dis%21EUR%2110.42%210.94%21%21%2179.50%217.17%21%40211b81a317188007833666792ec799%2112000033795199571%21sea%21NL%210%21AB&curPageLogUid=KJjlfH5YyK2D&utparam-url=scene%3Asearch%7Cquery_from%3A
https://nl.aliexpress.com/item/1005001874482130.html?spm=a2g0o.productlist.main.3.a9e26c5eJJt936&algo_pvid=5a919416-f109-4bb1-8b73-7497a31a6f1d&aem_p4p_detail=20240815121247363209358460004606834&algo_exp_id=5a919416-f109-4bb1-8b73-7497a31a6f1d-1&pdp_npi=4%40dis%21EUR%212.43%210.92%21%21%212.61%210.99%21%402103854617237491669825299ef220%2112000041176351759%21sea%21NL%210%21ABX&curPageLogUid=YjMHMH10a1t0&utparam-url=scene%3Asearch%7Cquery_from%3A&search_p4p_id=20240815121247363209358460004606834_2
https://www.amazon.nl/dp/B089DXQDS9?ref=ppx_yo2ov_dt_b_product_details&th=1
https://www.amazon.nl/dp/B0CWQPGNT1?psc=1&ref=ppx_yo2ov_dt_b_product_details
https://www.amazon.nl/Rocker-Tuimelschakelaar-motorfiets-Huishoudelijke-Apparaten-KCD4/dp/B0B1MNKV5G/ref=pd_sbs_d_sccl_3_29/259-2653487-1667710?pd_rd_w=J0Px5&content-id=amzn1.sym.d59b0447-84b8-40dc-9ed8-ccfdabe49739&pf_rd_p=d59b0447-84b8-40dc-9ed8-ccfdabe49739&pf_rd_r=EHR2BGQ6YN1TWMBFE5X5&pd_rd_wg=sGNTX&pd_rd_r=7cfd738b-756c-4821-bfd7-2b475d580a4b&pd_rd_i=B0B1MNKV5G&psc=1
https://www.amazon.nl/Drukveren-246-delig-Assortiment-spiraal-drukveer/dp/B079N7BMS3/ref=sr_1_7?__mk_nl_NL=%C3%85M%C3%85%C5%BD%C3%95%C3%91&crid=D38Z5KISYRP1&dib=eyJ2IjoiMSJ9.xTQbPUa26OE0NIjXpocbovd_SYbNAqErdGgVyZf6EYZr1T68R5k6B7DExYz8CxIGu7td-sU6910uhS_czPRe5rdy9jPH32GjHX3KBJ0wbo9MJkk9EsgZc8jsVt_K7-reXoH4aiBaRitzQ1BnUD7XcxIM9jXbHQvp-cfyLmZXVSrSMQVYl6hrkrA-1UVwFcoAEoFwkYufEEm_izcTCkO_LPk8gqS2JCShPR5-TlWRLjYFcFQjVRqwxIm1BRPeHM-Yi4o-XPysei0ahxl5VyJG9FXS18bISzT0Io15n4dYmwA.RxXAsqQ1aj3og0P6f85bhDBmSl4HcseZ-khsgerss_U&dib_tag=se&keywords=springs&qid=1723749573&sprefix=springes%2Caps%2C453&sr=8-7
https://www.lidl.nl/p/parkside-digitale-heteluchtpistool/p100368138


5.4 Gelijder bottom mold holder v3 30x30 U-profile Steel/RVS 1 1
5.4 Press brake bottom.STEP
5.4 Press brake bottom Drawing.PDF

5.5 bottom plate Sheet metal Steel/RVS 1 1
5.5 Metal bending.STEP
5.5 Metal bending Drawing.PDF

5.6 Base plate sheet metal v3 Sheet metal Steel/RVS 1 1
5.6 Metal bending.STEP
5.6 Metal bending Drawing.PDF


